1H

BH/SFEEHERE ETEHRIERRE
BRXZE 500 |itxi 200 |ExB 300 |2xis 2620
FXES 300 |FExi 300 |ExfE 250 |mxE 210
2 xHi 500 |HXE 300 |FExEE 500 |ZRxER 1000
%xEz 1000 |Z=ZXE | 1000 |[EIX3Z{L | 12000 £X/AE 30000
SxE 1000 |3EXBE | 1000 |ZEXZE | 12000 (ExsE 2000
EXE 300 |ERXZE | 1000 BRXE 600
X 400 [HEXE 200 Exig 2000
S2x5 200 |RXiE 300 BEXEE 5000
ExE 300 [3RXF | 1000 BOA T{TSSELNERE L BT | 378
21| x g 1000 |EBXHk 300 X85 10000
XS 200 |FEXH | 1000
DX 500 f@XfX | 1000
BxE 300 |EXA 500
IS 200 |EXE 300
RXIBIE | 200 FEXE | 1000
FRxal 300 |EEXiE | 1000
SEXFE 500 |EEXZ 500
FRx RS 500 #XT 300
NSt | 44450 |INEt 53808
4z 98258
28
BH/SETEHIEFE EEHIERE
BRXZE 500 |3tx3t 200 |E=xB 300 #XB 520
FAXES 300 |Fxi 300 |i&Exf2 250 [ExE 360
2 X 500 |B5XE 300 |FxEk 500 [fEXE 13150
SxEz 1000 |EXE | 1000 |[fEXAF | 30000 3ExE 6000
SxE 1000 |3EXE | 1000 FXA 2100
ExE 300 |ERXZE | 1000 PRXiE 2500
e 400 |HEXEE 200 Sx34 2979
Sx3 200 |=Xi& 300 BRX AR 930
ExE 300 3EXE | 1000 215 12000
21| x 1000 |EBXHk 300 $ExIH 60
XS 200 |PEXH | 1000 =y 30
BxE 500 fXfX | 1000 =i 180
BxE 300 |EXA 500 2xiE 2000
PRI 200 |EEXE 300 BEXE 30
RXIBHE | 200 FRXE | 1000 =X 2000
FRxal 300 |EEXi&E | 1000 i 240
S xFE 500 |EEXZE 500 =X 60




PR 500 |MAXiI 300
INEt | 50450 |hviEt 45139
o5 95589
3H
SR/ ENE EEHRIBFRE
JRXZE 500 |AXE 300 (48X 1000 |BX& 60
RxES 300 =XE 1000 x5 300 [SIxFk 2400
2 Itk 500 |5RXEf 1000 |;&x{@ 250 | Fx{Ese 35000
Bxs= 1000 |ERXFE 1000 |Ex3% 500 |ExjE 280
RxE 1000 |HEXRE 200 |HRXE 30000 TX4 5000
ExE 300 |RX{&E 300 EFX— 2400 |EixEm% 4500
FERXIR 400 |5RXAR 1000 |PEXZE 2400 XTI 5000
RXH 200 |ERXkK 300 |PRXER 3000 | EXFHE 30000
EXEE 300 |PEXH 1000
2 x 38 1000 |faIXAx 1000
xE 200 |EXA 500
AIxE 500 |EXE 300
BxiR 300 |fRXE 1000
i 200 |E=XiE 1000
RXIBIE | 200 |EXZE 500
Fxu 300 XA, 500
RxhE 500 |EEXE 1000
FExEE 500 |EXIE 1000
HEx i 200 |MXZFE 1000
Exi 300 [SEXaI 200
gt | 62650 /it 82240
HoH 144890
4R
BR/SFEHENE EEHRIEFE
RXEE 500 |AXE 300 (#BXX 1000 |E=X(E 2000
MxE 300 |EXE 1000 |BXE=E 500 |#ix$g 10000
I 500 |3RXEf 1000 | &RXUED 1000 |pEXZE, WXEE 36380
$5xE= 1000 |ERXFE 1000 EBx& 300 |#ExEE 30
SRR 1000 |HEXRE 200 |ExfE 250
EXE 300 |RX{& 300 |FExEX 500
FERXE 400 |3RXAR 1000 3BXFH 2400
Rx%H 200 |ERXkK 300
EXEE 300 |PEXH 1000
2 x 38 1000 |faIXAxX 1000




XS 200 |EXA 500
BxE 500 |E=X5E 300
SXxIE 300 |fEXE 1000
X 200 |&=XiE 1000
AXIRIR 200 |&:XZE 500
Mxan 300 |EXIm, 500
RxhE 500 |EX&E 1000
FExEE 500 |FEXIE 1000
i3 200 |#KRXZ: 1000
Exis 300 JEX3AI 200

INET 28750 |/\&Et 48410

o 77160

58
BH/ B TEHEFE EEHAIBFE

TRXES 500 |FX5E 300 |[#BXX 1000 |Rxia 1720

MXEX 300 |®XE 1000 BXE 500 |ERX4H 2000

Exi 500 |3RXE+ 1000 |ERXJED 1000 |$EXiB 3000

45xE= 1000 |ERXFE 1000 BxE 300 |[ERXENXHEES 50000

RxE 1000 |HEXE 200 | Ex{E 250  |Hix#g 10000

ExE 300 |RX{E 300 |ExskR 500 =X 8000
xR 400 |5RXAR 1000
Rx%H 200 |EBX#K 300
SxXEE 300 |PEXIE 1000
2 x3F 1000 |{RIXAR 1000
XE 200 |EXA 500
BIxE 500 |EXH 300
BxE 300 |PRXE 1000
PRxLE 200 |EXiE 1000
AXIBIE | 200 |E_XZ=E 500
Y 9l 300 |EXIH 500
RxhE 500 |EXE& 1000
FERXEE 500 |FEXIE 1000
X 200 |MAXFT: 1000
Fxig 300 |JEX3Z 200

INET 26350 |5t 74720

B 101070

68
BH/ S TEHENE FEEHRIERE




SRXE 500 |FAXE 300 |BXX 1000 | ZEXFk 600
MRXES 300 |EXE 1000 EXE 500 |Fix#g 10000
=pe s 500 |3RXEE 1000 | ERXIED 1000 |EEXiE 1000
4SxEE 1000 |ERXFE 1000 | EBEX#k 300 |\ ZBXE 300
RxE 1000 |HEXREE 200 BXH 300 |ERXif 3000
EXE 300 |RX{E 300 |&Ex{E 250 |$ExZ& 210
FERX;% 400 |5RXAR 1000 |ExEZ 500
RXH 200 |ERXIK 300
EXEE 300 |PEXIE 1000
2 x 3B 1000 |{RIXAR 1000
xE 200 |EXA 500
BIxE 500 |E=XiH 300
BxE 300 |PEXE 1000
MXLE 200 |ERXE 1000
AXIBIE | 200 |E&XZE 500
xan 300 |EXI, 500
RxhE 500 |EBXE 1000
FERXEE 500 |REXIE 1000
AT 200 |#AXZF: 1000
Exif 300 |JEX3I 200
INET 26650 /)&t 15110
sEEt 41760
78
BR/SFEHENRE EEHRIEFRE
SRXEE 500 |FAXE 300 |HBXX 1000 |ExE 280
MXES 300 EXE 1000 BXE 500 |EEXiE 1000
Exk 500 |3RXEE 1000 |ERXIED 1000 |Hix$4 10000
Ex3E 1000 |ERXFE 1000 | EBEX#k 300 |ERxiE 180
RxRE 1000 |HEXEE 200 |ZEXEE 200 |[BXE 30
EIXE 300 |RXiE 300 | MIXYE 500 |EEx3E 60
FEXE 400 |5RXAR 1000 BxE 300 |ERX{Z 2000
Rx3H 200 |ERX¥K 300 |Ex{E 250 |EXH 1000
SIXE3 300 |PEXIE 1000 |FxE% 500 | #KxEM 2000
2 x 3B 1000 |{RIXAR 1000 MEXZR 100
XS 200 |EXA 500 MXFE 600
BIxE 500 =X 300 BXE 390
BxE 300 |PEXE 1000 X 1322
MXLE 200 |ERXE 1000
AXIBIE | 200 |BRXZ:= 500
xan 300 |EXI, 500




RxhE 500 |EEXE& 1000
FERXEE 500 |REXIE 1000
Xt 200 |MAXZFE: 1000
Fxi 300 |JEX3Z 200
INET 27350 /Mgt 18962
O 46312
8H
BH/BFTEHENE EFHRIEFRE
RXE 500 |AXE 300 |BXX 1000 |&Xif 1800
MXES 300 |EXE 1000 EXE 500 |=X¥ 8000
= xi 500 |RXEF 1000 | ExXHE] 1000 EBXE 12000
Ex3E 1000 |ERXFE 1000 | BEXHK 300 |E#ixEg 10000
RxFE 1000 |HEXEE 200 |EXE 200 |EX® 100
ExE 300 |RX{&E 300 |fAIXYE 500 EDATL 200
FRX& 400 |5RXAA 1000 | IRXF 3000 |Hix$% 5000
RxH 200 | ERX&k 300 BXE 200 \RXH 1500
EXEE 300 |PEXHED 1000 |SIXBR 200
x5 1000 |{RIXAR 1000 BxE 300
XS 200 |EXFA 500 |Ex{E 250
BIxE 500 |EXE 300 | Exsk 500
xR 300 |PEXE 1000 | EFXIRE 5000
MxLE 200 |B&XiE 1000 #EXE 2000
AXIBIE | 200 |E-XE=H 500
xa 300 |EXI, 500
RxhE 500 |EXE 1000
FERXEE 500 |FEXIE 1000
iy :: 200 |MAXZFE: 1000
Fxi 300 |JEX3I 200
st | 37750 [Ihst 38600
HEH 76350
98
BR/SFEHENE EFHRIEFE
RXES 500 |FAXGE 300 |[#BXX 1000 |ERX{— 2000
MxE 300 EXE 1000 EXE 500 |$XHH 3000
Exh 500 |3RXEF 1000 | ERXIED 1000 |3ixE4 10000
4SxEE 1000 |ERXFE 1000 | BEXHK 300 |FEXtH 10000
RxE 1000 |HEXE 200 |ZEXEH 200 |EXiE 4000
ExE 300 |RX{E 300 |fAIXYE 500 EXER 100000




FERXIR 400 |5RXAR 1000 3RXF 3000 |[FhXE= 60
Rx3H 200 |ERX¥K 300 BXE 200
EXEE 300 |PEXIE 1000 |ZIXBB 200
2 x 36 1000 |{AIXAR 1000 x5 300
exE 200 |EXA 500 |&x{E 250
BIxE 500 |E=Xif 300 | ExEk 500
xR 300 |PEXE 1000 |E=XE 300
Y SN 200 |&XiE 1000
AXIBIE | 500 |E-XZE 500
xan 300 |EXI 500
RxhE 500 |FEBXRE 1000
FERX 500 |FEXIE 1000
X 200 |MAXFE: 1000
Exi 300 |JEX3Z 200
NEt | 31350 [hat 129060
s 160410
108
BR/SFEHENE EEHREFE
SRXES 500 |FX5E 300 |#BXX 1000 |ERxiH 240
MXEX 300 EXE 1000 BXE 500 |FBXxiE 2000
B3 x I 500 |3RXEF 1000 |ERXUED 1000 SHx&E 295
45xE= 1000 |EBXZE 1000 |EXHK 300 |BXT % 40000
RxE 1000 |HEXEE 200 |ZE=XE 200 |EXEF 40000
EXE 300 |RX{E 300 |fAIXYE 500 |‘EX{E 3960
FRXIR 400 |5RXAR 1000 |3RXF 3000 &tk 125000
Rx%H 200 |ERXH#K 300 |EXE 200 [IRIBEHS 10000
EIXEs 300 |PEXIE 1000 ZIXAR 200 NEEEESERESFE | 1200
2 x4k 1000 |{EIXAR 1000 | FEXE 500 |NENBESEESE | 25000
exE 200 |EXA 500 |ZEXAX 2000 [3#ix$4 10000
BIxE 500 |EXiH 300 |ZXIn 200 ExE 260
xR 300 |PEXE 1000 BxE 300 |EXKE 30000
PRI 200 |EXiE 1000 |ExfiE 250
AXIBIE | 500 |ZXZE 500 |Ex5k 500
XY 300 |EXI 500 |=EXE 300
RxhE 500 |FEBXRE 1000
FERX 2 500 |FEX1E 1000
X 200 |MXFE 1000
Exix 300 |JEX3I 200




INET 34050 /Mgt 287955
wast 322005
118
BH/ B TEHEFE EEHRIEFRE

TRXE 500 HXF 300 HBXX 1000 |f&X¥% 2000
MxE 300 |EXE 1000 EXE 500 EX& 10000
2B xHk 500 |SRXEf 1000 |EFXIED 1000 |Z=X3Z 360
ExE 1000 |ERXFE 1000 |BXHK 300 EBK 50
RBxE 1000 |FEXEE 200 | Z=XFE 200 |[BXE 4000
EA 300 |R=X{E 300 |FIXEE 500 |MRxED 2700
PR xaz 500 |ERXHA 1000 |3RXF 3000 |ERXE 3600
Rx3H 200 |ERX%k 300 EBEXE 200 MXE 1220
=SxE 300 |PEXIH 1000 |ZIXBEA 200 BIXFE 350
2 x 48 1000 |fAIXAR 1000 |R§X{E 500
xXsE 200 | EXA 500 |ZEXRR 2000
2xE 500 |E=X5E) 300 (ZXzn 200
xR 300 |fEXE 1000 £xB 300
Mxig 200 |=XiE 1000 |&Exf# 250
AXIRIE 500 |Z:XZR 500 |ExE% 500
Mxan 300 |EXIm 500 =XFE 300
RxhE 500 |E@EX&E 1000 |£XFH 3000
PEXRE 500 |[EX1E 1000 |[#AXZ 1500
Xt 200 |FRXZFR 1000
Exig 300 EXAI 200

/N5t | 38650 |[/hEt 24280

sast 62930
128
BH/ S TEHEFE EEHRIEFE

SRXZES 500 |AXE 300 XX 1000 |HXiE 2000
MxES 300 EXE 1000 BXE 500 |'2x#d 3580
B3 xH 500 |3RXEE 1000 | ERXIED 1000 BXEZHE 1000
Sx3E 1000 |ERXFE 1000 | BEXFK 300 |f&X#X 2000
RxFE 1000 |FEXE 200 | ZEXEE 200  |#ix$% 10000
EIXE 300 |RX{E 300 |FAIXYE 500 |3RxE 2000
FRXR 500 |GRXAR 1000 3RXF 3000 |iBxE& 210
RXH 200 |ERXIK 300 BEXE 200 |FAX¥X 500
SxEE 300 |PEXIE 1000 |ZIXBB 200 RXB 50000
2 x4k 1000 |{RIXAR 1000 | REX{E 500 |FEXX 20000
X 200 |EXA 500 |ZEXAX 2000 |Z@&X¥ 30000




BIXE 500 |E=Xif 300 |Z&X#n 200
xR 300 |PEXE 1000 |FFXIA 300
MRXLE 200 |ERXE 1000 |EBRXTE 1000
AXIBIE | 500 |EEXZE 500 |BxS 300
xan 300 |EXI, 500 &xf{# 250
RxhE 500 |FEBXE 1000 | ExEE 500
FERXEE 500 |REXIE 1000 =XFE 300
HExFE 200 |MXFE: 1000 | PEXZE 300
FE i 300 |JEX3I 200 | PAXYE 2000
NGt 37750 [IhEt 121290

mcsA

159040




